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Compound Events

Probability of Independent Events

Rolling a number cube twice:

P(4 and 6)

Step 1: Find the probability of
each individual event.

P(4) = ¢
P(6) =

6
1
6

Step 2: Find the product of
the probabilities.

1 1

P(4 and 6) = § X & = 35

Probability of Dependent Events

Selecting two different toppings
for a pizza from 8 toppings:

P(pepperoni and sausage)

Step 1: Find the probability of
the first event. Then find the
probability of the second event

Step 2: Find the product of
the probabilities.

P(pepperoni and sausage)

based on the first. 11

P(pepperoni) = %

Since you've chosen pepperoni,
there are only 7 more toppings
to choose from.

So, P(sausage) = %

1

56

For tossing the cube and spinning the spinner, find
each probability.

1. P(2 and red) 2. P(5 and yellow) 3. P(6 and not blue)

Pa

Yellow

£
Y

Green

6. P(an odd number
and not yellow)

5. P(an even number
and red)

4. P(not 3 and green)

Use the cards to find the probability of each compound event.

The first card is not returned before the second card is chosen.

7. P(4, 5) 8. P(4, 4) 9. P(5, 6)

4l
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Use the table to solve Problems 2-3.
Prizes Number
DJ for an hour 1
T-shirt 5
CD 20

. L . Show Your Work
1. A local radio station is hosting a dance

party. All 70 attendees put their names
into a box. Names will be drawn for prizes.
What is the probability that Amy’s name
will be drawn first? That her name will

be drawn first and Beth’s second?

2. Ashley’s name is drawn first. She reaches
into a bag to select a prize. What is the
probability that she will select a CD? That
the first 2 people will select CDs?

3. Twenty-four names have been drawn. Only
two prizes are left. What is the probability
that Karl and Kris will win them? that Karl
will be picked next and Kris after that?

4. Explain the difference between each of
the outcomes described in Problem 3.
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